
Name
Period _

Review Problems: Moles

1. Which of the following is not the same number as the rest? (Show your work below)

a. The number of molecules in 4 moles of CO2,

b. The number of hydrogen atoms in 2 moles of H20.

BThe number of chloride ions in 4 moles of CaCI2•

d. The number of hydrogen atoms in Y2 mole of C3Hs. 2'(
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4. The formula of gold (III) chloride is AuCI3• How many formula units are there in 0.30 moles of

gold (III) chloride? How many atoms of chlorine are present in this same sample?

5. A sample of phosphoric acid, H3P04, contains 1.2 x 1023 molecules.,

a) How many moles of phosphoric acid is this?
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b) How many atoms of phosphorus will there be?
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c) How many atoms of hydrogen will it contain?
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